A SUHMHSH

Ha: SOTHGH 9= OIFEH YT AB(SDEANLOF /LT - 212

el SOHIHoH olgt2el

2 - B - RA(33) - MRAL - BES Off 428 DI
SHHoHH St 246,232 251,657
E 121,600 126,500
& 124,632 125,157
SHIHSH gl= rNE LRE MEH(SSE MU /T 224,383 229,808
=]

EN 121,600 126,500

== 102,783 103,308

SCHIHOH ol2r2tel 224,383 229,808
EN 121,600 126,500

& 102,783 103,308

SCHAHOH CHS A A EHZRAL 47,000 51,900
EN 44,100 49,000

= 2,900 2,900

207 A0 44,100 49,000
e 44,100 49,000

01 2= 44,100 49,000
OZCHIHoH CHEM A AEHZAL 44,100 49,000

EA 44,100 49,000

SHAFSTHAH o2l 86,875 87,400
405 HHE SH] 79,475 80,000
01 XA S SF S 79,475 80,000
OSHAS T Ol Sl 2= 79,475 80,000
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